Chart A (set-up)

Rows
[ v Jola]o]-]-]o[a]o]-[-]o[a]o]-]-]o]A]o]-] [O \ o) o) / o| [-]o[alo][-[-]o[a]o]-]-]o]Aa]o][-[-]o]a]o] v |19
[ v [-]-]-lo|alo]-]-]o][a]o]-]-]o]a]o]- o) o[a[o 0 —lo[alo]=[-[o[alo][-|-]o[alo]-[-]-] v ] 17
[ v [|-lo|a]o]-[-]o[alo]-]-To]alo]- 0 ol [a]l Jo 0 —lolalo]=[=[o[alo]=[-]o[alo]-[ v ] 15
[ v [\o[-]-]o]alo]-]-[o[a]o]- o) 0 A 0 0 —-lo]alo]-[-[o[alo]-]-lo]/] v ] 13
[ v [-[-]o|alo]-[-]o[n]|o]- o[ |o A o| |o —lo|alo]=[=[o[alo]-]-] v ] 11
[ v [o[alo[-]-]o[a]lo]- [ o) -lo[alo][=[-]o|alo] v ] 09
L v [-]-[-[o]a]o]- o o —[oa[o]-[-]-[" ¥ ] 07
[ v [-]o[a]o]- o o -lo[alo[-[ v ] 05
[ v \o][- o o -lo[/] v ] 03
[ v [- o| |o -1 v ] 01
Chart B (main pattern) Rows
v__[o|a]o]-[-]o][a]o]-]-[o][a]o]-[-[o[A]O][-] [o \ o) o) A 0 ¢ / o] [|-[o|a]o]-|-[o|Aa]o]-|-]o]a]o]-]-]o]Aa]lo] ¥ o9
[ v [-]-]-lo]alo]-]-]o][a]o]-]-]o]a]o]- 0 o[A[o o[A[o 0 —-[o[afo]-]-[o]alo[-|-[o[alo]-[-[-] Vv ] 07
[ v [-]o[alo]-]-]o[alo]-]-To]alo]- 0 ol [a] Jo ol [a] Jo 0 —-[o[alo[-[-[o[a[o][-|-[o]alo]-] Vv ] 05
[ v [\[o]-]-]o[a]o][-|-]o]alo]- 0 ¢ A o 0 A 0 @) —-lo[alo]-]-[o]alo]-|-[o][/] v ] 03
[ v [-lI-lo[alo][-]-]olalo]- o] |o A ol |o A o] Jo —[o[alo]-[-[o[aJo[-]-[ Vv ] 01
Pattern repeat (multiple of 10 sts)
Chart C (transition) Rows
[ v [-[-]-]o]alo]-]-]o|a]o]-|-]o]|a]O]- O|A|O —[Oo[a[o]=[=[o|Aa]O]=]-]o[a]o]-[-]-] Vv | o7
[ v [-]o|alo]-]-]o]|a]o[-]-]o]ao]- o| [a] |O —-[o[alo|-[-[o[a[o][-|-]olalo]-] Vv ] 05
[ v [\[o|-]-]o]alo]-]-]o]alo]-| [0 0 A o) o| [-lo[alo[-[-lo|alo]-]-]o]/] v ] 03
[ v [-1-lolalo[=]-]olalo]- ol [o A o] |o —[o[alo]-[-[o[n[o[-]-] Vv ] 01
Pattern repeat (multiple of 10 sts)
Chart D (edging) Rows
[-[-[-Io]alo[-]-]o]a]o]-[-[o[a[o]-[-]o[alo]-]-[4[o] [o] [o] [o] [o] [o[r[-[-]oalo]-[-]4[0] [o] [O] [o] [o] [o[a[-[-[o]a]o]-[-]o]a]o[-[-[o]alo]-]-]o]alo]-][-]-] Vv ]19
v [-[o]alo][-[-[o[alo[=[-]o[alo][=[=[o][a]o][-[= —|=]o]alo]-]- —[=lo|alo|=[=]o]alo]=[=[o|alo]-[-[o[alo]-] v ] 17
[ v [Nol[-[-lo[alo][-[-To[alo[-[-]o[alo]=[-T4]o] To] [of Tol lol [o[a[=[=To[alo[=[=T&lo] Tol lol Tol To| Tolxl=]-lolalo]-[-To[alo]-]-To[alo]-]-lol/] v ] 15
[ v [-|-]o|alo]-[-]o[a]o[-[-]o[alo][-]- —-[-]o[a]o[-[- —-[-[o[alo]=[-]o[alo[-[-[o[a]o]-[-] Vv ] 13
[ v [o[alo[-[-[o[alo][=[=[o[alo[=[=[4]o] [o] [ol Tol [ol [o[al=[=]o[alo]=[=14]o] [o| ol [ol [o| lo[al=]-lo|alo]-]-]o[alo]-]-]o|alo] v ] 11
[ v [-[-[-[o]a]lo[-[-]o]alo]-]- ol/| |[\]o -[-|o[n|o]-]|- ol/] |\]o —-[-[o[alo]-[-[o[n]o]-[-]-] v ] 09
[ v [-lo[alo][-[-]o[alo]-]- ol/ \[o —|-]o]alo]-]- ol/ \ [0 —[=lo|alo[=[-[o[alo[-] Vv ] 07
[ v I\o]-[-[o]a[o]-[- ol/ N -[-[o|a]o[-]|- 0|/ \ |0 -[-lo[alo]-[-lol/] v ] 05
[ v [-[-[o]a]o]-[-]\]o ol/[-|-[o[n]o]-]-]\]o ol/|[-[-[o[alo]-[-] v ] 03
[ v Jolalo[-[-]\]o ol/|-|-]ojalo]-[-]\]O o[/[-[-]oJalo] v ] 01

Pattern repeat (multiple of 20 sts)
CHART NOTES
& Read the charts bottom up, from right to left. For Charts A, B and C start with Right Half followed by Center SeCtOon i« ixirrrrrecrrrrrrsrsrrsss st :
and then by Left Half. For Chart D work the pattern repeat all across the shaul. : Chart Key :
Only Rs rows are represented. Work even (Ws) rows: K2, P to last 2 sts, K2 except row 20 of Chart D - knit across. : D K K2tog S2kp K4t09 |I| PM M3
& Always knit the first and last two sts (the beginning and end border respectively), both on Rs and Ws rows, :

these aren’t represented on the charts. [0] Yo sk [-]P [A]sep [1] sm [ patiem repeat

% The st count varies from one row to the next. | recommend counting the sts and place life lines.




